IBM PC Server/ SA88-5990-02
(00000 S83H-9585-03)
Netfinity 0O OO
9306 O
000 4QS04QX0O 2000 900
Ooooddn






SA88-5990-02

IBM PC Server/
(00000 S83H-9585-03)
Netfinity 00O

9306 [
000 4QSH4QX0 2000 900

ooobgd



O

00o0o0o000o0oo0o0o0o0oooo0oooooooooooo
000000000008l nO0U0onoooooboUoo
gbooooooooooooooo

030 (19980 90)

0 oo 10L9941
IBM PC Server/Netfinity Racks
Type 9306
Models 001, 4QS, 4QX, 9QS,
9QX, 9TS, 9TX, 200, 900
Hardware Maintenance Manual

0 oo 00000000000000
0 oo 0000000000000000
010 1998.11

© Copyright International Business Machines Corporation 1996,
1997, 1998. All rights reserved.



ggoooo

0O0o0O0IBM PC Serverd 0000 IBM Netfinity 00000
gooOooooobooooooOobooboOoOobooOooo

IBMPC Serverl 000000000000 0O0O00OO
e 093060 19000000 24000

000 4QS]4QX
|BMNetfinityDDDDDDDDDDDDDDDDDD
« 93060000 2000900

0oo0oooooIBM PC Servers7 000000 (SA88-5708)0
0oo0oo0o0o00o0o0ooO0ooOoooooooon

oo

0o0DO0IBM PC Serverd 00O IBM Netfinity Serverd O
000000000000000000000000000
oo

IBM 00000000000 77/000000000000O0
oooooooooooo




O

ggd

IBM 000O0O0O0O0O0o0oOoOooooooooooooooon
0ooooooo IBM ODoooooooooooooo

ooo ooooo

PC Servers IBM PC Servers100000
0 (SA88-5708)

PS/2 IBM Personal System/2

Hardware Maintenance
Manual 00O S52G-9971)

PS/ValuePoint

IBM PS/ValuePoint Hardware
Maintenance Service and
Reference{ 00O
S61G-1423)

00o000oo0o0o00ooooo
00000oo0o0o000o0o0oo
ThinkPad

(L4000 CL570 N450 N510)
P70/P78 ThinkPad 300
350050005100 710T0 000
00 Dock 10 Dock 11)

IBM Mobile Systems
Hardware Maintenance
Manual Volume 1000
S82G-1501)

ThinkPad IBM Mobile Systems
(ThinkPad 340 3551 3600 Hardware Maintenance
3700 7000 7010 7200 7500 Manual Volume 2000
755) S82G-1502)

ThinkPad IBM Mobile Systems

(ThinkPad 365 760)

Hardware Maintenance
Manual Volume 3000
S82G-1503)

00Ooo (0ooooo)

IBM PS/2 Display HMM

(19930 20) Volume 1 QOO0
SA38-0053)
oooo IBM Color Monitor HMM

(19930 120)

Volume 2 QOO0
S71G-4197)

IBM 0000 (POOOD)
(19960 20)

IBM Monitor HMM
Volume 3 QOO0
S52H-3679)

IBM 22480000
(19960 2 0)

IBM Monitor HMM
Volume 4 QOOO
S52H-3739)

gooO0oo0oO0o0o0O0o0oooo

0O IBMRAID DOoOooooOo
oooo

Configuring Your Disk Array
booklet 0 000 S82G-1506)

Personal System/20000

Personal System/2 Installation
Planning and BeyondJ(O O
0 G41G-2927)

iv

IBM PC Server/Netfinityd 0 0 HMM




ooo

ooooo

Advanced Personal System/2
Servers1 0000

Advanced PS/2 Servers
Planning and Selection Guide
(Cooo GG24-3927)




Vi IBM PC Server/Netfinityd 00 HMM



gd

N i
OO000 ot e e e e e e e e e e e e iv
IBM PC Server/Netfinity 0O0o0ooogd ... ... ... 1
000000000« o v o vt e e e e e e e e e 2
0000000000« 0 v vt et e e e e e e e e 4
O0000000 « o oot e e e e e e e e e 5
9306 0000 4QS14QX . . . v 7
OO o ot e e e e e e e e 7
00000000 « . vt o e e e e e e e 8
0oooooo (93060 -19000) &« v v v v v v e . 16
0000000 (93060 -24000) v v v o v v e 20
9306 0000 200 . . . . . it 25
0 25
00000000 « o v ot e e e e e e e e e e 25
00ooooo (93060000 200) & v v v v e v e 44
9306 0000 900 . . . . . 47
OO o e e e e e e e e e 47
00000000 « o v v v e e e e e e e e e 47
0oooooo (93060000 900) &v v v v e e 66
NetBAY3 0000 . . . oot e e e e 69
0 69
OO0 o e e e 69
T 75
00000000 « o v v e et e e e e e e e 77
N 77
00000000 « o v ot e e e e e e e e e e 80
0 81
OO ot e e e e e e e 82

© Copyright IBM Corp. 1996, 1997, 1998 vii



viii  IBM PC Server/Netfinityd 00 HMM



IBM PC Server/Netfinity 000000
0

000000000 ...t v v it
0000000000 ... oo e e
00000000 .t e e e s e

© Copyright IBM Corp. 1996, 1997, 1998



goooboobo

IBM PC Servern 000000000 IBM Netfinity 00OD0OD

00 (93060)00000000000000000D0D0OODODO
000000000000000000

0oob0oO000OO000400000000000000000O0
oooooooo

oo

e 00D 4QS14QX 00

0000000000000000000000000

000000000230VacoOOOOOoOooooQO
oooooooooo

e [0O0O 200090000
0boooooooooooooooooooooooo

000D0000Oooo0oooooo (PDU)ODOODOO
00o0oo000000000000D000000000

001

- oooooooooooOoOoOoOOOOOOOOOOOODOOO
oooooo0oooOoooOoOobooOo0obooOoOooooO0oooo

—O0o0b000o00o0oo0o0bO000o0o0o0o0oO000b0000o00
000000000(@OO0O000000000O0O0O0OOO
000000000000000000D00000O)

- oooooooooooOoboOoOOOOODOODOOOODODOD

ooo
ooooooogooooo
ooooooooooooo
4. 0O0O0OODDO

w e

oooooo0ooo/ooooooooo?
Yes No

002

000000o0o0o0oooooooooooooooooon
oooooooooo

003

- oooooooooobooooOoObOOOOOODOOOOODDOO
gbdboboooooooooooooooooooooooooo
oooooo

0ooooooo0oooooooooo?
Yes No

004

(0oDo004000)

2 IBM PC Server/Netfinityd 0 0 HMM



005

004 (0 D)
pgooodoobOOoO0o0OobOoOobOobOooboobooboooboo
Oo0o00DoOO0o0o00DOOo0obOOoDOOoooOOoooooOoog
00000000 00DbOO0oO0obOOobOOoooOOooOooooog
00000000 00bOO0o0obOOobOOoooOoooooOoog
OOo0ooOooOooooboooo

gooooooOoboooooOoOooooO0oboOoOooooO0n
000000000000000000000000000
0000000o0o0o0oooooooooooooooooo
000000o0o0o0o0o0oooobo0ooooo0oo0o

1. 000000 (000DD0DD0DDDDODOOO0O0O000000
000000000000000000000000
o)

2. 00000ODO0O0OO0O000000 (000000000
000000o0o0o0oooooooooooooooo
0ogoooooo)

3. 000D00O0O0DOoOoOooDoOoOooOo

4, DOOO0ODOOOODOOO

000000000000000000000000000000
0000000000000 00000000O00DOS0000
oooooooooooooooooooo

1.

00000000 (0000000000000 0OO00000
ooooooo)
goooooo

000000000000000 (00ODDDOO0OO0O0000
00000o0oooooooooooooooooooooo

o)
0000000000000000
000000000000

IBM PC Server/NeffiniygdDooooo 3



oboooboobon

IBM PC Servern 000000000 IBM Netfinity 00OD0OD

00 (93060 ) 0000000000000 DOODODO0ODOD
oo

oo

« 000 4QS14QX 00

000o0o0ooooooooooooooooooooo

0000000000000230Vacoo0oooon
oooooooooooooo

e 000 200090000
0bdooooooooooooooooooooooo

000D000000000000 (PDU)OOODOO
00o00O00000000000O0ooO0oooooooo

001

—f0ob0o0oo0oooo0oo0oooo0booooooO0ooo
ooooooO0oo0oo0oO0o0oooo0oboOo0ooooO0ooo
- oooooooooooooooOoOOOOOODOOOODODDOO
0000000000000 0000000D0000nonooon

00000000000 0000DO00DOOooonO)
- oooooooooooOoOoboOoOOOOODOODOOOODOOO

ooo
oooooooooooo
ooooooooooooo
4. 0OO0OO0OOO

w e

0000000oO0/o0ooooooo?
Yes No

002

000000000000000000000000000
goooooo

003

- 000000000000000000000D0000000O0
gooodooOo0ooo0o0ooOoU0ooDoOoDooOooDooooo
oo

00000000000 0O0O0oooag?

Yes No

004

000000000000000D000000000000
000000000000000000000000000
(0oDoo004000)

4 IBM PC Server/Netfinityd 0 0 HMM



004(00)

000000000000000000000000000
oo

005

000000000000 0000000000D00000000
OooO0b0000000D00000000000O00000000
ooooooooooooooo

1. 0ooooooo
2. 000

ooooboooo

000000000000 0000000000D00000000
000000000000 0000000000D00000000
oooOoooooon

IBM PC Server/NetfinityD 00 0000000000000O00O
ooo

1. 0000000000000 0OOOODOOOOOOODOOO
000000000
2. 00000O0O000000OO0O0O0OO0OOOOOOO
3. UPSOOOOOOOOOODOODODODOOOOOOUPS
oooooooooooooo
4. IBM PC Server/Netfiniyd 000000000000
e [J00000000O00000000000O0O000O
000000o0oo0o0oooooo0o0o0ooo00000
gooao
e [J00000000O00000O0O00000O0O000O0
0000000000000000000000000
00000000000000000000000

IBM PC Server/Netfinityd0ooooo 5



6 IBM PC Server/Netfinityd 0 0 HMM



9306 0 000 4QSO 4QX

o0

9306 IBM PC Servel 0000000000 4QS19Q319TS
0003000 10000000000

e 19000 Quad 1000000000 (DO 9QS)

e 19000 TH1D0000O0D00O00 (D00 9TS)

e 24000 Quad 1000000000 (OO0 4QS)

Quad 10000000000 OOODO 40000 IBMPC
ServerS 000000000O0TrM10000000000000
0 30000 IBMPC Servers000gooong

1000000000000QuadlTri 00 100000000
000 (0000000000000D0D0D00D0)0000000
00000o0oooooooooooooooooooooonooo
0000000000000 00000000000000000
000000000000000000000000000000
000000000000000000

IBM 9306 PC Serve 0 0000000000000 O00DOO
DOoo0O0o0000000D0000000

IBM PC Server DODOOGOQ0OQ0OQOO
JooO0ooo 3000 IBMPC Servero0O0O0O0o0OoooonQ
OO0OIBMPC Serverd 00 10000000000000000O

0O000o0oOoOoooD IBMPC ServerD000OO00oooooo
oooooo

e 19000 QuaddOOOOD (DOO 9QX)
e 19000 THOOOOO (DOO 9TX)
e 24000 QuaddODOD (DOO 4QX)

IBM PC ServelD 0000000000010 IBM PC Servern
000000000000 0000000000D00000000
0 40000000000000000000000

© Copyright IBM Corp. 1996, 1997, 1998 7



ggpooobood
000000000000000000000000

e [J00O00000O0O0O0O0O0O0O0O00O0

e O000000O0O0OOOOOOOODOOO
e 11000000DDOO

e 1200000000000

e 13100D00O00000000O0OOOO
e 150000000000DDOOOODODO
e 1500000000000ODOOO

O

0000000000D0O0O0OOooOS00o0oOoOooDoOoo
ooooooooooooo

ggbobobooooooboooo

000000000000 0000000000D00000000
ooo

1. DOoooODOOoooOOoOoOooDO
2. 1/80000000000000D0O0OOOOO0O0O0

3. 0000D0DOO0OOO0OD0O0O0DOO00O000000000O0
000000000000000
4. 00000000 0ODO0O0O0OO0OODOOOODOOOODOOO

ooooo
H—s—-
_ tLoH—-
TS o
~EN arvy—iL

H—/\— H—/\— - ey
'1’.’[/707_ tL/OG—O) tl/a’}'—
FoAvE BFH =

8 IBM PC Server/Netfinityd 0 0 HMM



goooboobooog
0000000000000 00000000000000000
000000000000 00000000000000000

IBM Netfinity 00 00D0O000000000000000000O
oooo

AN GEE

0000000000000000D0000000000000020
goooOoooooo

770000000000000000000O00O0OO0OO0

0000o0oooooooooooooooooooooooon
1. 000000000000 DD

2. 00D0DO000ODOO0O0OODOOODODOODODOO0OODO0OOO
Ooo0oo0oo0o0000000n

000000000000 0000000000D00

4, 0O00O0ODOOOOOOODODOOODODOOO00000000O0
000000000000000O00000000000D

000000000 4000000 51600000000
o00o0ooooooo

5. 00DO0oO000OO000DO0O00ODOOO0O0bOOO0OO0DOOO
oo

O

00o0000000000000000000000000
00o0000000000000000D00O00000000
ooo0oo0oo0000o000000o0ooDonDa

I

93060000 4QS14QX 9



LI —%E
On-0ff X4 v F

H—/\— -

goood

7 =o<=f 2%
@ %
<] 223
] s
—oef] oo
[
et

NI Mwm-

| T =o=o @ xmo @ -

Y= =D F—HR— K
£ RADIER

A

Jv
A2

7Y

H—N— -
<) R
IBM PC Server/Netfinityd 0 0 HMM

|

H—/\— -
F—R— R

10



gogd
o

0000000000000000 20 IBM PC Server
000)D0D00D0D0O0D0Doo0DO 5 (IBM PC ServerD
0000)00000000O00O0000000000000
gdobooooooooooooooooooooooooo
oo

00000000000000000000
1. 0000O0O0O0oOoOoOoOoooo
2. 000DO0ODODOOOOO0O0O0OO0OO0OOOOOO

3. PhilipsD0O00O0D0D00D0D0O0OO000000 400000
ooooooo

O

00000000 00000000D00D0000000
o0o00ob00b000000000D000000000
ooooobo0000000000bD000o00000
ooo

4. 00O0O0O0O0O0O0OO0OOOOODOOOOO

—

]
AC Ea—X—|

—

B
JL—h—

o

G
P

115V AC
BRAY T — |
AT r—45—

\
>/

BEER — |
AAYF

230V AC
ERAY - Y®
AUTAr—8—

—~

e

\
\
)
)%

93060000 4Q314QX 11



gooogo
000000000000 0000000000

1
2
3.
4

OooOooooooooooo
DooO0oo0o0o000000000000000
000O000000000000000000

5/160000000000000000000000000
0000000000000 800000D0000DOODO

00000o0o0o0oooooooooooooo

O

gooooooooo0ooooooooooooboooooo
gooooooooooooooooooooooooooo
gbooooooooooooooooooooooooooo

oooooooooooo

auf)

)
)

@s

/Lo

=
S —

0= =

12 IBM PC Server/Netfinityd 0 0 HMM




gbooboobooonDg

000 4QS00D0000 4QX0O0000DO000DOO0ODDOO
000000000000 0000000000D00000000
000000000000 000000000000000000
000000000000000000000000000000
000000000000 000D0000000D0D0000O024
000D0000000DO000D00 FRUODOOOOOOOO
000000000000 00000000000000000

oo

O

00o000000000000000D0000000000
ooo0oo0O0obO0o0o0o0o000000000

gbobobobooooo:

000000000000 0000000000D00000000
oooooooo

l. JooooOoOoOoOoooooo

2. 0000ODOO0OO0OO0OO0OO0O00O00O0O0O0O0O0O0OOOOOOn
ooooo0oo0o00000b00000000o0 ooo
ooooo

3. 000DO0000OO00ODDO0OODO H oooooooo
oooOooooo

4. 3/32000000000000D0000DO0ODODOOOO
0oooDooo 50000 oooOooooo

5 00000000 n ooo0oooooooobooooo
00 2000 (0 5000)0000000000000

6. D0ODODODODDDO EDDDDDDDDDDDDDDDDD
goo0ooooO0boo0oooOo0obooooooO0oooo0on
000000000000 ﬂ ooooooooooooo
000000000000000000000000000
ooooooooooooo

93060000 4Q914QX 13



gbobobobooooo:

000000000000000000000000000000
oooooooo

1. O0O00D0D0O0ODO0OOOO0OO0OOD
2. 00000O0ODOOO0OODOOOOOOOODOOOOODO

0000000000000000000000 oo0o
ooooo

3. 00000000000 O0DOO0OOoO ﬂ oooooooo
oooooooo

4. 00D0O0ODOOODOODOOD DDDDDDDDDDDDD
0000 2000 (0 5000)00000000000
oo

5. 0oooOooooooo HDDDDDDDDDDDDDD
000000000000000000000000000
000000000000000000000000000

] ﬂ gboooooooooooooooooooooo

]

ooooo fJ ooo B ooooooooOooO0DOOn
ooo

14 IBM PC Server/Netfinityd 0 0 HMM



gbooboobooonDg

0000000000000 00000000000000000
o00o00ooooooooooooooo

000000o0oo0o0ooooooooooooooooooooo
0000000000000 00000000000000000
oooo

000000000000000000000000000000

000000000000 0000000000D00000000
oooooo

0000000000000000000000000000
1. O0O00OD0OD0O0ODO0OOOOOO

2. 0000ODOOO0OO0OO0O00000000O0O00OOOOOOO
00000000000 00000013000000Oo0o
0000o0ooooooooooonooo

3. 3/3200000000000000000000DO0O0OO
00000000000 000D0O0O00O00D 400000
ooooooo

O

000o0o0ooooooooooooooooooooo
obooooooooooooooooooooo

goooogoooo
0000000000 0000000000000000

1. O0O00OD0OD0O0ODO0OOOOOO

2. 00DDO0OO0ODOOOODOOOODOOODOOOODOOOO
00o0O00000000000000000000

3. 00000000O000DO000DOO0O0OO0OOO0o0O
oo

4, 0O00O0OOOOOOOOOOODOODOOO0OO00000000
oooooo

93060000 4Q314QX 15



0000000 (93060 -19000)
000 9QSI19TSO OO0 9QXO 9TX

16 IBM PC Server/Netfinityd 00 HMM



9306 0 -19000000ODO
000 9QS19TSO OO 9QXD 9TX

oo

0N O WN

10
11

12
13
14
15
15
16

17
18
19

20
21
22
23
24
24
25

26
27
28
29
29

1900000000000 (93060)

Adapter Plate Options:

PS/2 Server 85/95

Model 300

Model 50Q1 700
Monitor Stand
Server Selector Cable
Blank Bezel (9QX 9TX 0OODOOO)
Monitor Bezel with button label
Server Selector Keypad
Monitor Housing (19900)
Server Selector Unit Electronics

770000000000000000000
ooooo

Internal Cables (Cable Kit Shelf Server
0ag)
Cable Management Arm
Cable Management Arm Single Server
Tray
Piro Cable Management Arm
Fan 220 V ac with Power Cord
Latch Rear Door
Rear Door (19100)
Hinge Set for Rear Door
External Power Cord:
Australia
Europe
Israel
Italy
New Zealand
South America India
U.K./Denmark
USA
External Power Cord Option - 6 Ft.
Left/Right Side Panel
Caster
Power Distribution Unit
250 V Slow Blow Fuse
Keyboard Slides (I0)
Leveling Foot (10)
Stabilizing Bar
Keyboard Tray (12100)
Slide Rails Server Tray (10)
Slide Rails Dual Tray (10)
19-inch Front Compartment Door (19
00 x 26 000) Includes Hinge Set and
Screws
Door Hinge Set
Door Valance (9QX9TXO O OOOOO)
Mouse Table
Dual Server Tray
Dual Server Shelf

FRU OO

76H3733
76H3734
76H3735
07H0061
07H0036
76H0379
76HO0378
07H0097
76H0377
07H0034

07H0073

76H0386
76H0387

07H0089
07HO0063
76H0376
76H0373
76H0389

14F1559
14F1554
14F1561
14F1560
14F1558
14F1557
14F1555
14F1553
07H0094
76H0374
76H3626
07H0424
0303549
07H0038
76H0390
76H0375
76H0381
07H0083
76H0383
76H0371

76H0372
76H0380
07H0079
76H0382
76H0385

93060000 4QS14QX 17



oo 1900000000000 (93060)
30 Single Server Tray

19-Inch Single Slide Shelf for an Industry
Standard 19-Inch Rack.
Cablel SVGA-Video (150000)
Option
Monitor Power Cableq0 0000000
oooo)
Rack Keyboard Cablea@0oooonog
jooooooooooooooooo)
Rack Mouse Cablex(COO00O00O000O
00oo0oooooo0ooooooon)

Rack Enclosure Kits (93060 )

Bolt-Together Kit (19-Inch to 24-In¢h24-Inch to
19-Inch)

¢ 19-Inch Attachment Bracketi(2 0)

e Screw 1/4-20 x 1/2 Button Head Socket Cap

Allen (O 80)

e Screw 1/4-20 x 1-1/4 Socket Cap @ 0O)

¢ Flanged Nut 1/4-20( 120)

e 24-Inch Attachment Bracketl(4 0)
Cable Kit Shelf Server (1200000000)

¢ Monitor Cable

¢ Keyboard Cable

* Mouse Cable

 Internal Power Cable
Miscellaneous Parts Kit
Rack Nut/Holder 10-32( 8 0)
Keeper Nut 8-32 Zinc{ 8 0)
Keeper Nut 10-32( 6 0)
Screw 6-32 x 5/16( 20)
Screw 6-32 x 1/4 Button Head Socket Cap
Allen (O 80)
Screw 10-32 x 3/8 Button Head Socket Cap
(o 80o)
Screw 6-32 x 3/8 Button Head Socket Cap
© 20)
Screw 1/4-20 x 1/2 Button Head Socket Cap
© 20)
Screw 8-32 x 1/4 Button Head Socket Cap
Allen (O 40)
Screw 10-32 x 1/4 Button Head Socket Cap
o 20)
Screw 8-32 x 1/4 Button Head Socket Cap
(o 80o)
Pull-ringD 3-Inch @ 20)
Shoulder Screw 8-32 x 3/81(20)
Standoff] .25 Hex1 6-32 FF1 .5-Inch @ 20)
Screw 8-32 x 3/8 Button Head Socket cap
©20)
Screw 10-24 x 1/4 Button Head Socket Allen
o 20)
Screw 10-24 x 5/16 Button head Socket Allen
o 20)

.

.

.

18 IBM PC Server/Netfinityd 0 0 HMM

FRU OO

76H0384

76H3628

76H3736

07HO0075

07H0067

07H0069

FRU OO

76G3627

07H0073

07H0057



Rack Enclosure Kits (93060 ) FRU OO
¢ Keeper Nut 8-32[( 20)
e Nut8-32 (0 20)
* Captive Weld Nuti{ 20)
¢ Whiz-Lock Flange Nut 1/4-200( 2 0)
e Keeper Nut 10-320( 20)
e Bumpers @ 20)
e Cable Ties 80)
Server Tray Interlock Kit 07H0091
e Cam(@ 10)
e Spring 0 10)

93060000 4Q314QX 19



0000000 (93060 -24000)
000 4QSO00 4QX

20 IBM PC Server/Netfinityd 0 0 HMM



9306 0 -24 0000000
000 4QS000 4QX

oo

0N O WN

10

11
12
13
14

15
16

17
18

19
20
21
22

23
24

25
26
27
28
29
30

2400000000000 (93060) FRU OO

Adapter Plate Options:

PS/2 Server 85/95 76H3733
Model 300 76H3734
Model 50Q1 700 76H3735
Monitor Stand 07H0061
Server Selector Cable 07H0036
Blank Bezel (4QX00) 07H0066
Monitor Housing (24100) 07H0065
Server Selector Keypad 07H0097
Rack Frame N/A
Spacer (Spacer KitRight Side (28 O 07H0059
0) ooo)
Server Selector Unit Electronics 07H0034
77000000000000000000
Internal Cables (Cable Kit Top Shelf
Serverd 0 O Cable Kit Bottom Shelf
Serverd 0 0)
Cable Management Arm 07HO0087
Piro Cable Management Arm 07H0089
Fan 220 V ac with Power Cord 07H0063
Rear Door Latch/Lock with Key and 07H0055
Bracket
Rear Door (24100) 07H0047
External Power Cord:
Australia 14F1559
Europe 14F1554
Israel 14F1561
Italy 14F1560
New Zealand 14F1558
South America India 14F1557
U.K./Denmark 14F1555
USA 14F1553
External Power Cord Option - 6 Ft. 07H0094
Left/Right Side Panel 07H0049
Power Distribution Unit 07HO0424
250 V Slow Blow Fuse 0303549
Keyboard Slides24-Inch (10) 07H0038
Leveling Feet (41) 07HO0053
Stabilizing Leg 07HO0051
Keyboard Drawer 24-Inch (Slidest 0 O 07HO0077
Bracketst 0)
Slide Rails Server Tray (10) 07H0083
24-Inch Front Compartment Door (24 07H0058
00 x26000)
Door Hinge Set 07H0045
Door Valance (4QX10) 07H0068
Handle Server/Keyboard Tray 07HO0085
Server Tray 07H0081
Mouse Table 07HO0079
Shelfl Server Tray 24-Inch 07H0093
Cable] SVGA-Video (150000) 76H3736

93060000 4Q914QX 21



oo 2400000000000 (93060)
Monitor Power Cable(0 0000000
oooo)
Rack Keyboard Cablex(@0ooooon
0o00000000oDooooooo)
Rack Mouse Cablex(0 0O O0OO0O0OO
0000000000 00000oOn)

Rack Enclosure Kits 24000 (93060)

Bolt-Together Kit (19-Inch to 24-In¢h24-Inch to
19-Inch)

¢ 19-Inch Attachment Bracketl(2 0)

e Screw 1/4-20 x 1/2 Button Head Socket Cap

Allen (O 80)

e Screw 1/4-20 x 1-1/4 Socket Cap @ 0)

¢ Flanged Nut 1/4-20( 120)

e 24-Inch Attachment Bracketi(4 0)
Cable Kit Shelf Server (1200000000)

* Monitor Cable

¢ Keyboard Cable

* Mouse Cable

¢ Internal Power Cable
Miscellaneous Parts Kit

¢ Rack Nut/Holder 10-32( 8 0)
Keeper Nut 8-32 Zinc{ 810)
Keeper Nut 10-320( 6 O0)
Screw 6-32 x 5/16( 20)
Screw 6-32 x 1/4 Button Head Socket Cap
Allen (O 80)
Screw 10-32 x 3/8 Button Head Socket Cap
(o 80)
Screw 6-32 x 3/8 Button Head Socket Cap
o 20)
Screw 1/4-20 x 1/2 Button Head Socket Cap
o 20)
Screw 8-32 x 1/4 Button Head Socket Cap
Allen (O 40)
Screw 10-32 x 1/4 Button Head Socket Cap
©20)
Screw 8-32 x 1/4 Button Head Socket Cap
(o 80)
Pull-ringd 3-Inch @ 20)
Shoulder Screw 8-32 x 3/8(20)
Standoff]1 25 Hexd 6-32 FR1.5-Inch @ 20)
Screw 8-32 x 3/8 Button Head Socket cap
o 20)
Screw 10-24 x 1/4 Button Head Socket Allen
© 20)
Screw 10-24 x 5/16 Button head Socket Allen
© 20)
Keeper Nut 8-320( 20)
Nut 8-32 0 20)
Captive Weld Nut 20)
Whiz-Lock Flange Nut 1/4-20( 2 0)
Keeper Nut 10-320( 20)

.

22 IBM PC Server/Netfinityd 0 0 HMM

FRU OO
07HO075

07H0067

07H0069

FRU OO

76H3627

07H0073

07H0057



Rack Enclosure Kits 24000 (93060) FRU OO
e Bumpers (0 20)
e Cable Ties@ 80)

Server Tray Interlock Kit 07H0091
e« Cam (@ 10)
e Spring 0 10)

Spacer Kit Right Side 07HO0059

¢ Rack Joineri{ 8 0)

¢ Spacer Top and Bottorn 34-Inch 0 10)

¢ Spacer Body 70-Inch 0 20)

e Screw 10-32 x 3/8 Button Head Socket cap
(o 80o)

e Screw 1/4-20 x 1/2 Button Head Socket cap
(0 80)

¢ Whiz-Lock Flange Nut 1/4-200( 8 0)

¢ Screw 6-32 x 3/8 Button Head Socket Cap
(o 60)

93060000 4Q914QX 23



24  IBM PC Server/Netfinityd 0 0 HMM



9306 0 O OO 200

go

IBM Netfinity NetBAY22093060 0000 2000000000
000D 22U (385000)000000 190000000
0oo0Do IBM PC Server/IBM Netfinity Served 000000
0o00000O00oO0oOooooon

ggpooobood
000000000000000000000000

e 2600000000000DODO

e 27/00000D000000000OOOOOO
e 30000000000

e 3l000000D00O0OODOOO

e 31000000000

e 320000000000000O0OO0

O

0000000000oD0O0OOoOooOS0oooOoOoooDoOoo
0oooooooooooo

© Copyright IBM Corp. 1996, 1997, 1998 25



gboooogo

09k

avy

26 IBM PC Server/Netfinityd 0 0 HMM



gbooboobobogon

i

o |o

o |o

o |o
o

foooooooa
—

00000o0ooooooooooooooo

0000000000000000000

93060000 200 27



gbobobobooboooboooon

:ul:; 5—3 EEE:I k-
£= EEV

[m} .‘. Rosct[ ...G o g%

E

K M| K 85

“aalles.co.06.dbY
Fo—p VIR ::\I:/-l':_i"'jl 3 3/l:1 42— 3 BRERAvF

gbooobobob

VRTFLT ~8

i Al A

E Nl

i
.

Two

/
Three
oS | o | o

SRTLOI-1 ~ 1-8

/
One Two Three
Od- oD | e |

1008000 10000000DDODODOOODO 800 2000

0000000000000 000000 40000000 DD
o00000oooooo

]
2000000000000000000D00O0O0ODO

e 4000
e 8000

28 IBM PC Server/Netfinityd 0 0 HMM



gbobobooobooobooon

F—HR—F XIR

| =

tLIB—- XM YF

(=
avy—i - Y—n—2 E
=) -
000O000000O00o0o
F—R—F IIR

==

‘ 1T RELYE— - RAYF

arvy—=)u:
£yt =
H—/— 3

‘ 2 RELIDB— AL YT

o00o0o0ooooooooo

93060000 200 29



@@ 6\"\o

000000000000

- NN Y NN |

000000000000

O
200000000000000000

e 0OOO
e [O0OO

30 IBM PC Server/Netfinityd 0 0 HMM



gbooooooo

93060000 200 31



000000000000000000000000000000
gooooooOobooOoooOoOobooooooOon

32 IBM PC Server/Netfinityd 0 0 HMM



oooooao
0000D0000000D000000

1. 000000000 D000000000
2. 000O0O0DO0DOODO

3. 000DO0O0DO00DO00O

O

000000000000000000D00O00000000
o0o0o0o00D00000000000000000000
00000000 0000000000D0000000000
ooooooO0ooO0o0oo0oon

00000o0oooooooooooooooooooooonooo

oooooo

e [J0000000000000000000000000

e [JO0ODOOODOODOO 1DODO0OO0ODODOOODOOOOO
0oooooooooo 1'oooooo

gbooboobonboon
u]
0000000000000 000000000000000

000 Apex PC Solution® Outlook™ Concentrator User

Guide0 0000000000000 O0ODOOOOOOO
oooooooooooooo

0DOob0O0o00000000000D00000000000

000000000000000000000000

e [JO00O0O0O0O0O0O0O0O0O0O0O0O0OO0

e 0O0O00OO0DODOOOOOOOODOODOODOOOOOOO0
ooooooo

gboooogoooo
000000000000 0000000000

e Print Screen0 00000
e JO000O0O0O0ODOOOOOOOOOOOOO
e Enter00000O0

O

Print Screemd 00 100000000000000O0O

000000000000 000Print Screen0O00 2
ooooooooa

93060000 200 33



Port Name
1 Magic +
2 CentralOfc +
3 Sales-C +
4 Sales-B
5 Sales-A +
6 Downtown
7 Foreign +
8
F1 Help F2 Advanced
Port Name
CentralOfc 2 +
Downtown 6
Foreign 7+
Magic 1+
Sales-A 5 +
Sales-B 4
Sales-C 3+
8
F1 Help F2 Advanced

e 0OO()D0ODOO()00000000000000
000000000000000000000000000

00000 Entero00OOO

00000 PortODOO NameOOOODODOODOOOODOOO
oo0oooooooooooono

oooooooo oooo 0o

ooo + 0oooooooo
oooooo

oooooo * 200000000
ooooooooo
ooooo

goooboboooboobon
0000000000000 00000000000000000
000000000 0000000000000000

e 000DODOODO

e 000D BIOSOOODOODODOODOOD

e 0OODODODODOD

34 IBM PC Server/Netfinityd 0 0 HMM



00DO0000D000000O0
000000000000
0000000000000000
0000000000000000000000 (00000
oooo)
00D00000000000000000000(00000
0oo)

000000 (0000)0000DD000000000000
oo

000000000: oooooOooO0O0OooOoOoooO
0o000000000000000n

Print Screen0 00000
F2000000 Advanced MenDOOOooOoQd
000 (f)0ooooooo () 0ooooooooooo

ScanO0OO0OUOOEnter 0000000000 DDOOOODO
000000000000000000000000000
000000000 OEner000OOO00OOD EscOO
oooooo
000000000000000000000000000
000000000000000000000000000
ooooooo

ggbogobooboobbd: oppooooooo

00000000000 00000O0O0oO0OD BIOSODOOoOoOO
000000000000o000000000000000000

Print Screen0 00000

F2000000 Advanced MenD OOOoooQ
000 (})0oooooo0o () 0000oooo0ooon
VersionOOOOOEnter 000000

Version

BIOS X.XX
Hardware X X

Port 1 Magic 1
Keyboard  Mouse
Enabled Enabled
Rate 2C Rate 100
LEDs 2 Res 2
Mode 2

Type 101 Type Gen

000000000000000000000

00000000000
oo00o0ooooo
LEDOOO
goooooo

93060000 200

35



- 000000000
goboooooobooooooOooooo
- 00000000000

— O0O0o0o00o

- 000

- 000000o

e 00O0OO0DODOOODOOODOOOODEsSCcOOOOODO
oo

ggboobooobddbd: poooooDooooOoo
OooO0o0000000D00000000000O00000000
000000000000 0000000000D0000000

1. Print Screen0 00000
2. F2000000 Advanced Menl OO OOoOGOoO

3. 000 (1)00000000 (J)000000000000

SnapshotD OO0 OEnter 000000000O0OOODO
0oooooooogooooo

oo

gooooooooooooooooooooooooooo
gbooooooooooooooooooooooooooo
gbooooooobooooooooooooooooooo
od

gboboboobobdobd: pooooooooo
000000000000 0000000000O00000000
ooo

e Print Screen000000
e F2000000 Advanced MenWOOOoOOoOO
e 00O (NH)OODDOOOD ({)0DO0O0ODDOOODODOOO

Reset0 D 0OO0OENnter 0000DDO0O0O0ODOOOOOOOO
oooOooOoooooooao

gobooooooodob: ooooooooooooo
000000000000000000000000000000
00000000000000000000000000000
000000000000000000000000000000
000000000000000000000000000000
0ooooo0oo0o00000000

1. Print Screen0 00000

2. F2000000 Advanced Men 00O O0OOOOOOO
(«+)00000000 (=)000000000000
Setup MenuO OO OOO

3. 000 ()ooooOoOoDO () oooooooooooo
Scan0000O0Enter 000000 Scan Pattern Setup
goo0oooOo0oooOoooOo0ooooooOoOoboooo
goo0oooOoO0obooOoooOoO0booOoOooOoOobooOoOoo
goooooooboooo

36 IBM PC Server/Netfinityd 00 HMM



Scan Pattern Setup
Port/Sec  Name

6/20 Downtown
5/20 Sales-A
4/10 Sales-B
1/10 Match

F2 for defaults

O0o00oO000000D00000000000000

4, 0O00OO0OOOOOOOOOOOOODOOO0OO0000000O0
000000000000000O00000000000D
DooO0o000000000D0000000000000D
ooooo

5. TabOOOOODOD (—)00000000000O0O0O Sec
000000000000000O00000000000D
000O00000000000000000000000D
0oo0o0o000000000000000000000D
00o0oo0oo0ooooooooag

6. 000 ({)0D0O0DOO0OCPoOrt0000O0DOO0OD0OO
0000000000 5000000

Scan Pattern Setup0 000000000000 OOOO
0000000000D00000000000D000000
0000O0O0ODelete0000O00O0(@OOODOCOOO Del
ooooooooo)o

7. 00000000000 DOOOOOOOENterDOOO
0000000000000 0000O00000OUEnteron
00000000 Esc00O0OOOOO

O

F20000000Port0D Sec0OO0O0ODOOO0ODOO
ooooooooooo

8. EscOOODODODODOOOO

gooooooooobobo0oO0ob0: ooooo 20
000000000000000000000000000000
0o00o000000000000000

1. Print Screen000000O

2. F2000000 Advanced MenD OO OO0OOOOOOO
(«+)000DD0O00D0 (=)000000O0000O00
Setup MenuO OO OO0

3. 000 (})0oooOoOoooo () 000ooooooooo
NamesOOOOOEnter 000000000 OO Port
NamingDOOOOOOO0OO0OO0OO

93060000 200 37



Port Naming
Port Name

0 N OO R WN R

MAGIC
CENTRALOFC
SALES-C
SALES-B
SALES-A
DOWNTOWN
FOREIGN

38

000000000000000000000000000

0000000 12000000000000000000O
ooooooo

]

0000000DADZOoOOD9UOODODODOODOOO
00oooooooooooooooooooooooo

00D00000Backspacel 0000000

0000000000000 00000000O0O00D 40
ooooo

Enter DO0D0OO0OO0DOO0OODOOO RAMOOOO
00000000000 0OENter 000000000 Esc
oooooooo

EscOOOOOOOOOOO

IBM PC Server/Netfinityd 0 0 HMM




000000000: oooooooOoOooOoOooog
0000000000D00000000000000000000
Jooooooonono

000o0ooooooooooooooooono
000000000000 0000000D0000 (0Oo0oo
000)00000000000

ooooooo

ooooooo

o00o0o0oooooooooooooo

00000000000000000000000

Print Screen0 00000

F2000000 Advanced MenD OO OOOOOOOO
(=) 000000000000 Setup0DOOODDOOO

000 () 0D0opDopDO0ooo () 000000000000
OSCAR™ (On Screen Configuration and Activity

Reportingpl OO0 OEnter 00 000000000000
oooooooo

OSCAR Attributes
Resolution
Height
Horizontal
Vertical

Background
Highlight
Text

Delay Time
Order

640
16
12

Port

00000000000o0o0o0o0+00000 -0000
000000000000000000000000000
o00o0ooooooooooo

000000000 D0D0O0OENter0000DOOOOODODO
00000 RAMOO0O0OD0O0D0O00ODDODODO0O0ODODOOO

00000000000 Enter000O00O0ODOO EscO
ooooooo

93060000 200 39



O

Esc
Esc

F10
Y
Enter

oA~ wN R

Print Screen

00o00000000000000000000000000
000000000000000000D00O00000000
00o0o00000000000000D0000000000
oooooboooooo

poooo0ooO0oO0o0oO0oo0OooOooooo

ooo

Resolution

Height

Horizontal/Vertical

Background

Highlight

Text

Delay Time

Order

oo0oooooooooooooono
oooo

00000000000000000
000000000000 oo320
4800000 64000000000
00000000000000000
ooooo

oooooooooOoooooonoa
Ooooo0ooO0o0oooooooa
oooOoooooooooao

oooOoo0o0o00o00000000a0
oooooooo

0OooO00000o0000o0o0o0on0a
oooooo

0000000o0o0ooooo0oo0oo0no
o000oooooooo

o00o0ooooooooooooono
ooooooooo

Print Screero 00000000
OSCAROOOO0O0O0OOOOOOOO
gooooDooooooooooo
goo0dooooooooooooog
gooooooooooopoooog
gooooooooooooooog
goo0obOoooooOoDboooo

oOooO0o00o0o0o000000000

00 (0000000O0O0ooOooo
00000000000000000

oooo)o

O0000000000: oooooOooDoO0O0O0o0O00o0
000000000000000000000000000000
000000000000000000000000000000
0000000000000 00000000D0000

e [JOOOOO:

oooooooooooono

40 IBM PC Server/Netfinityd 00 HMM




e [JOOOOO
e [JOOOO

o0oo0ooooooo

gooooooooooon

1. Print Screen0 00000

2. F2000000 Advanced MenlD O OOQOOOOOODO

(=)O0Doo
3. ooo () o

00000000 Setupd00OOOODODOOD
0000000 ()000000000000

FlagOOOODOOEnter 000000000000000O00O0

0ooo

Flag Attributes
Enabled

Row

Column

Color

Text

Mode

Names On

14

1

2

0
Transparent

4, DO0O0O0ODOOOODOOOO+ 00000 -0DD0O0OO0O
000O00000000000000000000000D
oooOooooooooo

ooog
Enabled

Row

Column

Color

Text

Mode

oooooooooooooo
Flags Off =D000D0O00OODOO

Ports On =0 00000000000
ooooooo

Names On 10000000000
goooooooooog

Ports Timed 000 5000000
ooooooo

Names Timed €100 500000
ooooo

00 1400000000000000
ooooooooooooo

00 2500000000000000
00o0oo00o0oo00gooooo

0oDoo0o0o 00 7000000
o

joooo0o0ooooooo 0O 70
oooooo

Opaque {0 0O) 000 Transparent
(00)DoOoOoOOO0O00O0

93060000 200 41



6.

Enter 00000000 DO0OO0OODOOOOOOOOOO
0000000000000 00OENtercDODDODO
00 EscOOOOOO0ODOO

EscOOO0OOOOO0OO0OO

gbobooboooboobob: 1pooooooood
0DooO0o0000000D00000000000D00000000
0OooO0o0000000D0000000000000D000O0

O

0oDo0000o0o000O000DO0000100000000

0000 200000000000000000000ODOO
ooooooo

ooo0O00000000D0000000

1.
2.

Print Screen0 00000

F2000000 Advanced MenwWOOOooooooo
(=) 000000000000 Setup0DOOO0DOOOO

000 (1) 00000000 () 000000000000

DevicesOOOOOEnter 000 00000000O0O0OO
ooooo

0 N OO R WN

Device Settings
Port Monitor

SVGA
SVGA
8515
SVGA
Default
Default
Default
8port

42

000000000000000000000000000

o00+00000 -00000000000000000
gooooooooo

0000 2000000000000000000OOOO
gooooooO0+00000 -0000006000000
goooooooooooo

Enter 00000000000 O00O0DOOODOOODOO
O0Enter0000000000 EscOOOOOOOO

Esc00000000000 Advanced MenlD OO OO0

IBM PC Server/Netfinityd 00 HMM




goboobobooboobon
0000000000000 00000000000000000
000000000 000000000000000000000
oo

O

00o00000000o00o0o0o0o0oo0onoooooooooo
00o000000000000000D0000000000
oooo

gooobooobo
000000000000000000000000000000
0000000000000000

000000000000 0000000000O00000000
Ooooo0ooO0o0oooooooa

O

000000000000000000D00O00000000
00o00000000000000000000000000

93060000 200 43



0000000 (9306 OO0 200)

44 IBM PC Server/Netfinityd 0 0 HMM




oo Joooooo (93060000 200)

1 Top Cover
including cover standoffs and screws
2 Rear EIA Rail (1)
Includes mounting hardware
3 Rack Frame
Caster (1)
Leveler (1)
4 Rear Door Assembly
Including latch and lock
5 Side Panel Assembly with Latches and
Lock

Side Panel Latches
Side Panel Lock with Keys

6 Caster Extension Plinth (1)
7 Stabilizer
8 Front Door Assembly
Including latch and lock
9 Front EIA Rail (1)
Includes mounting hardware
10 Side Brace (1)

Front/Rear Door Hinge with Pin (1)
Front/Rear Door Latch with Lock and
Keys (1)

Front/Rear Door Striker Plate (1)
Includes mounting hardware
Front/Rear Door Hinge Pin (1)
Grommet Cable Exit

Label EIA Unit Numbers
Miscellaneous Parts Kit - Includes:
Caged Nut M6 (6)

Screw] M6 Hex Head (6)

Screw] M6 Socket (5)

Washen 10/32 flat (6)

Hex Nut M6 (5)

Screwd M6X12 Button Head (5)

ooooooo (93060000 200000000
Monitor Housing

Filler Panels: 103Uooo00 5U

Keyboard Tray

Keyboard Slides (set) with Hardware

Fixed Shelf with Hardware

Single Slide Shelf

C13 - C14 Power Cable

C19 - C14 Power Cable

C13 - NEMA 5-15P Power Cable

C19 - NEMA 5-15P Power Cable

Videod Mousel Keyboard Power Cable (12000)
Videod Mousel Keyboard Power Cable (250 00)
Mouse Extension Cable

Keyboard Extension Cable

Concentrator (4 port) with Hardware
Concentrator (8 port) with Hardware

FRUD O

2810548

28L0547

28L0550
1234466
76H4960
28L0545

2810549

12J4468
76H4965
1234482
1234485
28L0544

2810546

1234477
76H4966
76H4967

1234465

1234469
28L0553
28L0551

76H4950

FRU OO
76H4947
1234473
76H4958
76H4961
76H4963
76H3628
07H0075
76H4964
76H4962
1234479
07H0073
1234484
07H0069
07H0067
28L0543
76H4948

93060000 200 45



ooooooo (93060000 200)00000 FRU OO

Low Voltage Power Distribution Unit - 1234472
8 AC sockets; With Hardware

208 V Power Distribution Unit - 1234483
10 AC sockets; With Hardware

250 V Slow Blow Fuse 0303549

46 I1BM PC Server/Netfinityd 0 0 HMM



9306 0 O OO 900

go

IBM Netfinity Server 9306-900 0000000000000
19000000000000 IBM PC Server/IBM Netfinity
Server00000000000000OOOOOODOOOO

goooogoo
000000000000000000000000

e 48100000000000O0

e 40000000000DOOOODOOO
e 52000000000

e 530000000O00O0O0OOO

e 5S530000DOOO

e S4000D000DDO0ODODOOO

O

0000000000000 000OS0000000D0000
000o0o0o0o0o0ooooo

© Copyright IBM Corp. 1996, 1997, 1998

a7



L
W

Wil

Wil
\

48 I1BM PC Server/Netfinityd 0 0 HMM




gbooboobobogon

i

o |o

o |o

o |o
o

foooooooa
—

00000o0ooooooooooooooo

0000000000000000000

93060000 900 49



gbobobobooboooboooon

:ul:; 5—3 EEE:I k-
£= EEV

[m} .‘. Rosct[ ...G o g%

E

K M| K 85

“aalles.co.06.dbY
Fo—p VIR ::\I:/-l':_i"'jl 3 3/l:1 42— 3 BRERAvF

gbooobobob

VRTFLT ~8

i Al A

E Nl

i
.

Two

/
Three
oS | o | o

SRTLOI-1 ~ 1-8

/
One Two Three
Od- oD | e |

1008000 10000000DDODODOOODO 800 2000

0000000000000 000000 40000000 DD
o00000oooooo

]
2000000000000000000DDOOO

e 4000
e 8000

50 IBM PC Server/Netfinityd 0 0 HMM



gbobobooobooobooon

F—HR—F XIR

| =

tLIB—- XM YF

(=
avy—i - Y—n—2 E
=) -
000O000000O00o0o
F—R—F IIR

==

‘ 1T RELYE— - RAYF

arvy—=)u:
£yt =
H—/— 3

‘ 2 RELIDB— AL YT

o00o0o0ooooooooo

93060000 900 51



@@ 6\"\o

000000000000

- NN Y NN |

000000000000

O
200000000000000000

e 0OOO
e [O0OO

52 IBM PC Server/Netfinityd 0 0 HMM



gbooooooo

93060000 900 53



000000000000000000000000000000
gooooooOobooOoooOoOobooooooOon

54  IBM PC Server/Netfinityd 00 HMM



oooooao
0000D0000000D000000

1. 000000000 D000000000
2. 000O0O0DO0DOODO

3. 000DO0O0DO00DO00O

O

000000000000000000D00O00000000
o0o0o0o00D00000000000000000000
00000000 0000000000D0000000000
ooooooO0ooO0o0oo0oon

00000o0oooooooooooooooooooooonooo

oooooo

e [J0000000000000000000000000

e [JO0ODOOODOODOO 1DODO0OO0ODODOOODOOOOO
0oooooooooo 1'oooooo

gbooboobonboon
u]
0000000000000 000000000000000

000 Apex PC Solution® Outlook™ Concentrator User

Guide0 000000000 0O0OO0DO0OODOOODOOOOO
oooooooooooooo

0DOob0O0o00000000000D00000000000

000000000000000000000000

e [JO00O0O0O0O0O0O0O0O0O0O0O0O0OO0

e 0O0O00OO0DODOOOOOOOODOODOODOOOOOOO0
ooooooo

gboooogoooo
000000000000 0000000000

e Print Screen0 00000
e JO000O0O0O0ODOOOOOOOOOOOOO
e Enter00000O0

O

Print Screemd 00 100000000000000O0O

000000000000 000Print Screen0O00 2
ooooooooa

93060000 900 55



Port Name
1 Magic +
2 CentralOfc +
3 Sales-C +
4 Sales-B
5 Sales-A +
6 Downtown
7 Foreign +
8
F1 Help F2 Advanced
Port Name
CentralOfc 2 +
Downtown 6
Foreign 7+
Magic 1+
Sales-A 5 +
Sales-B 4
Sales-C 3+
8
F1 Help F2 Advanced

e 0OO()D0ODOO()00000000000000
000000000000000000000000000

00000 Entero00OOO

00000 PortODOO NameOOOODODOODOOOODOOO
oo0oooooooooooono

oooooooo oooo 0o

ooo + 0oooooooo
oooooo

oooooo * 200000000
ooooooooo
ooooo

goooboboooboobon
0000000000000 00000000000000000
000000000 0000000000000000

e 000DODOODO

e 000D BIOSOOODOODODOODOOD

e 0OODODODODOD

56 IBM PC Server/Netfinityd 0 0 HMM



00DO0000D000000O0
000000000000
0000000000000000
0000000000000000000000 (00000
oooo)
00D00000000000000000000(00000
0oo)

000000 (0000)0000DD000000000000
oo

000000000: oooooOooO0O0OooOoOoooO
0o000000000000000n

Print Screen0 00000
F2000000 Advanced MenDOOOooOoQd
000 (f)0ooooooo () 0ooooooooooo

ScanO0OO0OUOOEnter 0000000000 DDOOOODO
000000000000000000000000000
000000000 OEner000OOO00OOD EscOO
oooooo
000000000000000000000000000
000000000000000000000000000
ooooooo

ggbogobooboobbd: oppooooooo

00000000000 00000O0O0oO0OD BIOSODOOoOoOO
000000000000o000000000000000000

Print Screen0 00000

F2000000 Advanced MenD OOOoooQ
000 (})0oooooo0o () 0000oooo0ooon
VersionOOOOOEnter 000000

Version

BIOS X.XX
Hardware X X

Port 1 Magic 1
Keyboard  Mouse
Enabled Enabled
Rate 2C Rate 100
LEDs 2 Res 2
Mode 2

Type 101 Type Gen

000000000000000000000

00000000000
oo00o0ooooo
LEDOOO
goooooo

93060000 900

57



- 000000000
goboooooobooooooOooooo
- 00000000000

— O0O0o0o00o

- 000

- 000000o

e 00O0OO0DODOOODOOODOOOODEsSCcOOOOODO
oo

ggboobooobddbd: poooooDooooOoo
OooO0o0000000D00000000000O00000000
000000000000 0000000000D0000000

1. Print Screen0 00000
2. F2000000 Advanced Menl OO OOoOGOoO

3. 000 (1)00000000 (J)000000000000

SnapshotD OO0 OEnter 000000000O0OOODO
0oooooooogooooo

oo

gooooooooooooooooooooooooooo
gbooooooooooooooooooooooooooo
gbooooooobooooooooooooooooooo
od

gboboboobobdobd: pooooooooo
000000000000 0000000000O00000000
ooo

e Print Screen000000
e F2000000 Advanced MenWOOOoOOoOO
e 00O (NH)OODDOOOD ({)0DO0O0ODDOOODODOOO

Reset0 D 0OO0OENnter 0000DDO0O0O0ODOOOOOOOO
oooOooOoooooooao

gobooooooodob: ooooooooooooo
000000000000000000000000000000
00000000000000000000000000000
000000000000000000000000000000
000000000000000000000000000000
0ooooo0oo0o00000000

1. Print Screen0 00000

2. F2000000 Advanced Men 00O O0OOOOOOO
(«+)00000000 (=)000000000000
Setup MenuO OO OOO

3. 000 ()ooooOoOoDO () oooooooooooo
Scan0000O0Enter 000000 Scan Pattern Setup
goo0oooOo0oooOoooOo0ooooooOoOoboooo
goo0oooOoO0obooOoooOoO0booOoOooOoOobooOoOoo
goooooooboooo

58 IBM PC Server/Netfinityd 00 HMM



Scan Pattern Setup
Port/Sec  Name

6/20 Downtown
5/20 Sales-A
4/10 Sales-B
1/10 Match

F2 for defaults

O0o00oO000000D00000000000000

4, 0O00OO0OOOOOOOOOOOOODOOO0OO0000000O0
000000000000000O00000000000D
DooO0o000000000D0000000000000D
ooooo

5. TabOOOOODOD (—)00000000000O0O0O Sec
000000000000000O00000000000D
000O00000000000000000000000D
0oo0o0o000000000000000000000D
00o0oo0oo0ooooooooag

6. 000 ({)0D0O0DOO0OCPoOrt0000O0DOO0OD0OO
0000000000 5000000

Scan Pattern Setup0 000000000000 OOOO
0000000000D00000000000D000000
0000O0O0ODelete0000O00O0(@OOODOCOOO Del
ooooooooo)o

7. 00000000000 DOOOOOOOENterDOOO
0000000000000 0000O00000OUEnteron
00000000 Esc00O0OOOOO

O

F20000000Port0D Sec0OO0O0ODOOO0ODOO
ooooooooooo

8. EscOOODODODODOOOO

gooooooooobobo0oO0ob0: ooooo 20
000000000000000000000000000000
0o00o000000000000000

1. Print Screen000000O

2. F2000000 Advanced MenD OO OO0OOOOOOO
(«+)000DD0O00D0 (=)000000O0000O00
Setup MenuO OO OO0

3. 000 (})0oooOoOoooo () 000ooooooooo
NamesOOOOOEnter 000000000 OO Port
NamingDOOOOOOO0OO0OO0OO

93060000 900 59



Port Naming
Port Name

0 N OO R WN R

MAGIC
CENTRALOFC
SALES-C
SALES-B
SALES-A
DOWNTOWN
FOREIGN

60

000000000000000000000000000

0000000 12000000000000000000O
ooooooo

]

0000000DADZOoOOD9UOODODODOODOOO
00oooooooooooooooooooooooo

00D00000Backspacel 0000000

0000000000000 00000000O0O00D 40
ooooo

Enter DO0D0OO0OO0DOO0OODOOO RAMOOOO
00000000000 0OENter 000000000 Esc
oooooooo

EscOOOOOOOOOOO

IBM PC Server/Netfinityd 0 0 HMM




000000000: oooooooOoOooOoOooog
0000000000D00000000000000000000
Jooooooonono

000o0ooooooooooooooooono
000000000000 0000000D0000 (0Oo0oo
000)00000000000

ooooooo

ooooooo

o00o0o0oooooooooooooo

00000000000000000000000

Print Screen0 00000

F2000000 Advanced Men OO OODOOO 00O
(=) 000000000000 Setup0DOOODDOOO
000 () 0D0opDopDO0ooo () 000000000000
OSCAR (On Screen Configuration and Activity

Reportingpl OO0 OEnter 00 000000000000
oooooooo

OSCAR Attributes
Resolution
Height
Horizontal
Vertical

Background
Highlight
Text

Delay Time
Order

640
16
12

Port

00000000000o0o0o0o0+00000 -0000
000000000000000000000000000
o00o0ooooooooooo

000000000 D0D0O0OENter0000DOOOOODODO
00000 RAMOO0O0OD0O0D0O00ODDODODO0O0ODODOOO

00000000000 Enter000O00O0ODOO EscO
ooooooo

93060000 900 61



O

Esc
Esc

F10
Y
Enter

oA~ wN R

Print Screen

00o00000000000000000000000000
000000000000000000D00O00000000
00o0o00000000000000D0000000000
oooooboooooo

poooo0ooO0oO0o0oO0oo0OooOooooo

ooo

Resolution

Height

Horizontal/Vertical

Background

Highlight

Text

Delay Time

Order

oo0oooooooooooooono
oooo

00000000000000000
000000000000 oo320
4800000 64000000000
00000000000000000
ooooo

oooooooooOoooooonoa
Ooooo0ooO0o0oooooooa
oooOoooooooooao

oooOoo0o0o00o00000000a0
oooooooo

0OooO00000o0000o0o0o0on0a
oooooo

0000000o0o0ooooo0oo0oo0no
o000oooooooo

o00o0ooooooooooooono
ooooooooo

Print Screero 00000000
OSCAROOOO0O0O0OOOOOOOO
gooooDooooooooooo
goo0dooooooooooooog
gooooooooooopoooog
gooooooooooooooog
goo0obOoooooOoDboooo

oOooO0o00o0o0o000000000

00 (0000000O0O0ooOooo
00000000000000000

oooo)o

O0000000000: oooooOooDoO0O0O0o0O00o0
000000000000000000000000000000
000000000000000000000000000000
0000000000000 00000000D0000

e [JOOOOO:

oooooooooooono

62 IBM PC Server/Netfinityd 0 0 HMM




e [JOOOOO
e [JOOOO

o0oo0ooooooo

gooooooooooon

1. Print Screen0 00000

2. F2000000 Advanced MenDOOOODOOO 00O

(=)O0Doo
3. ooo () o

00000000 Setupd00OOOODODOOD
0000000 ()000000000000

FlagOOOODOOEnter 000000000000000O00O0

0ooo

Flag Attributes
Enabled

Row

Column

Color

Text

Mode

Names On

14

1

2

0
Transparent

4, DO0O0O0ODOOOODOOOO+ 00000 -0DD0O0OO0O
000O00000000000000000000000D
oooOooooooooo

ooog
Enabled

Row

Column

Color

Text

Mode

oooooooooooooo
Flags Off =D000D0O00OODOO

Ports On =0 00000000000
ooooooo

Names On 10000000000
goooooooooog

Ports Timed 000 5000000
ooooooo

Names Timed €100 500000
ooooo

00 1400000000000000
ooooooooooooo

00 2500000000000000
00o0oo00o0oo00gooooo

0oDoo0o0o 00 7000000
o

joooo0o0ooooooo 0O 70
oooooo

Opaque {0 0O) 000 Transparent
(00)DoOoOoOOO0O00O0

93060000 900 63



5 Enter 0000000000 ODODOOOODOOOODOOO
0000000000000 00OENtercDODDODO
00 EscOOOOOO0ODOO

6. EscoOO0OO000000
goooooooodobo: 10000000000

0DooO0o0000000D00000000000D00000000
0OooO0o0000000D0000000000000D000O0

O

0oDo0000o0o000O000DO0000100000000

0000 200000000000000000000ODOO
ooooooo

goo0oooo0oooOoDoooooooo
1. Print Screen0 00000

2. F2000000 Advanced Men OO OOOOO OO0
(=) 000000000000 Setup0DOOO0DOOOO

3. 000 (1)00000000 ())000000000000

DevicesOOOOOEnter 000 00000000O0O0OO
ooooo

Device Settings

Port Monitor
SVGA
SVGA
8515
SVGA
Default
Default
Default
8port

0 N OO R WN

4. 00000000OO0DOO0OOO0OOOOOODOOOODOOO

o00+00000 -00000000000000000
gooooooooo

0000 2000000000000000000OOOO
gooooooO0+00000 -0000006000000
goooooooooooo

5  Enter 000000000 DO00DDO0OODOOOOOOO
O0Enter0000000000 EscOOOOOOOO

6. Esc00000000000 Advanced MenlOOOOO

64 I1BM PC Server/Netfinityd 0 0 HMM



goboobobooboobon
0000000000000 00000000000000000
000000000 000000000000000000000
oo

O

00o00000000o00o0o0o0o0oo0onoooooooooo
00o000000000000000D0000000000
oooo

gooobooobo
000000000000000000000000000000
0000000000000000

000000000000 0000000000O00000000
Ooooo0ooO0o0oooooooa

O

000000000000000000D00O00000000
00o00000000000000000000000000

93060000 900 65



0000000 (9306 00O OO 900)

66 IBM PC Server/Netfinityd 0 0 HMM



oo 0oooooo (93060000 900) FRUOO

1 Top Cover 1234481
including cover standoffs and screws
2 Rear EIA Rail (1) 76H4956
Includes mounting hardware
3 Rack Frame 76H4959
Caster (1) 1234466
Leveler (1) 76H4960
4 Rear Door Assembly 1234478
Including latch and lock
5 Side Panel AssemblypyC0O0O) 76H4949
Including latches and lock
6 Stabilizer Bar (1) 1234467
7 Caster Extension Plinth (1) 1234482
8 Front Stabilizer (1) 1234485
9 Front Door Assembly 76H4942
Including latches and lock
10 Front EIA Rail (1) 76H4951
Includes mounting hardware
11 Side Brace (1) 1234477
Front/Rear Door Hinge with Pin (1) 76H4966
Front/Rear Door Latch with Lock and 76H4967
Keys
Front/Rear Door Striker Plate (1) 1234465
Includes mounting hardware
Front/Rear Door Hinge Pin (1) 1234469
Label EIA Unit Numbers 1234471
Miscellaneous Parts Kit - Includes: 76H4950
Caged Nut M6 (6)
Screw] M6 Hex Head (6)
Screw] M6 Socket (5)
Washen 10/32 flat (6)
Hex Nutl M6 (5)
Screw] M6X12 Button Head (5)
0o0ooooo (93060000 900)00000 FRU OO
Monitor Housing 76H4947
Side Panel Lock with Keys 76H4965
Side Panel Latch 12J4468
Filler Panel (1w3Uoooo 5U) 1234473
Keyboard Tray 76H4958
Keyboard Slides (set) with Hardware 76H4961
Fixed Shelf with Hardware 76H4963
Single Slide Shelf 76H3628
Rack to Rack Mounting Kit - Includes: 1234476
Horizontal Trim (1)
Vertical Trim (2)
M6x16 Screws (12)
M6 Cage Nuts (4)
M6 Whiz nuts (10)
Bracket&l Rack Mounting (4)
C13 - C14 Power Cable 07H0075
C19 - C14 Power Cable 76H4964
C13 - NEMA 5-15P Power Cable 76H4962

93060000 900 67



0oooooo (93060000 900)00000

C19 - NEMA 5-15P Power Cable

Video Mousel Keyboard Power Cable (12000)
Video Mousel Keyboard Power Cable (250 00)
Mouse Extension Cable

Keyboard Extension Cable

Concentrator with Hardware (8 port)
Concentrator with Hardware (4 port)

Low Voltage Power Distribution Unit -

8 AC sockets; With Hardware

208 V Power Distribution Unit -

10 AC sockets; With Hardware

250 V Slow Blow Fuse

68 IBM PC Server/Netfinityd 0 0 HMM

FRU OO
1234479
07H0073
12J4484
07H0069
07H0067
76H4948
28L0543
1234472

1234483

0303549



NetBAY3 0000

go

IBM Netfinity NetBAY3 OO DOOODOOO0OOOOO0O0OOOOO
0ooDo0oO00o0O0 3Uoo0oooooooooooooog

O

0000000000000 (U)00000001uUDo 4.45
cm (1.75000) 000

0000000000000 300 NetBAY3DODDOOOOOO
0000000000IBM Netfinity EXPI00ODODODODOOOOO

(UPSpOOODDOODDOODODO NetBAY3OOODODOODODO
0000000000

go
000000000000000000000000

e [JOOOO

e [J0OO0OO0O

e [OOOOO

e QOOOOO

e [JOOOOO0OO0OOO

e NetBAY3OOOOOOOOO

oo
0ooooooooono 77kgo0o0

00000000000 0IBM Netfinity O IBM PC Server
0000000000 000000000000o0ooong

00o0o0o0o00o0oo0o0o0o0oooooooooooooooo
0ooooooooooooooooo

000000000 NetBAY3OOOOODODOOODOOO
gbooooooooooooooo

00 NetBAY3ODOOD (0000O00000O0O0OOO)OO
gboboboooooooooboooooooooooooooo
od

00D00000000O0NetBAY3OODDOODODOOODO
0o0o0o000D0000000000000D0000000
oo

© Copyright IBM Corp. 1996, 1997, 1998 69



gooogo

Jbooonooooom

e NetBAY3OOOOOOODO 2000000000 og

oooo

e NetBAY3OODODODODOOD 2000000000 H 0O
oooo

googo

Oooooooooon)

70 IBM PC Server/Netfinityd 0 0 HMM



)

%

W/

X




gooogo

O

00 NetBAY3DODOOO (DOODODOOOODOOCDDO)ODO
gooooooooo0oo0oooooooooooooooo
oo

72 1BM PC Server/Netfinityd 0 0 HMM



NetBAY3 ODO0OOOOOOO
o

000000000 NetBAY3OOOOODODOOODODOODO
gooooooooooooooo

NetBAY3DODODOO 73






gogooood

Index

N

g~ b W

NetBAY3 0DOOO

3-U Enclosure Frame

Front Bezel Assembly
with Lock and Keys

Foot Pads Qty. 4
Casters Fixed, Front, Qty. 2
Casters Swivel, Rear, Qty. 2
3-U Blank Panel

Miscellaneous Parts Kit - Includes:

e Screw, M16 (2)

e Cased Nut (2)

* M5 Nut (2)

e Tread Screw M6X16 (2)

FRU

03K8797
03K8798

03K8800
1233279
1233283
03K8799
03K9056

NetBAY3 DO OO 75



76 IBM PC Server/Netfinityd 0 0 HMM



gooooooo

gbooood

00000IBM PC Server/IBM Netfinity Servef1 00 93060
IBM PC Server0 000000 93060 IBM Netfinity 0000

0OIBMOOOO0OODOOO0OO0OODO0O0OO0OOO0O0O0OOOO0O0OOO
000000000000000000000000

oo0oooooad
000000000000930600000 4QS14QX09QS]
9QX09TSO9TXOOOO D o000

A I
/. EI_.‘
SN2

00000000000000000000000000000020
ooooooooa

© Copyright IBM Corp. 1996, 1997, 1998 77



gbobobooooo:

000000000000000000000000000000
000o00ooooooooooooooooooooooonooo
0000000000000 00000000000000000
000000000000000000000000000000
goooooooboooooOooboooooOoO0oboooO0oobooO0n
goooooo0boo0oooOo0boo0o0boo0o0oooo0boo00n
oo

000000000000 0000000000D00000000

000000000000 000000000000000000
00o0oo0oo0o0ooooooa

000000000000 0000000000D00000000
0oo0oo0oo0o00o00O0000O0ooo0

e J0OO0DODOOOOD 1000 (DODOD 100000
000D0O000O000DOO0OO0O0OD0O00)g

e 0DOOODDCRTOOOOODDOODDOODODOOOD

e 0O0O0OO0O0DODOOOOOOOODOODOOOO

000000000000 000000000000000000
000000000000 0000000000D00000000
ooooooooo

ooooooo:

1. 00000000 (0DO0DODO0D0O00000000)00
oooOoooooon
2. 0000ODODOOO0OO0OO0OO0000O0O0O0OO0OO0OOOOO
3. 00000000000 DO0O00ODOO0
a. 30000000000DO0O0OO0DOO0O0OODOOODOO
00000000 3000000000000o00
0oobDo00o0oo0o0ooDOO000oDO000.10000D0
oooao
b. O0DDOODODOOODDOOODOOOOOOODOO
ooooo

c. D0b0oOoDOobDO0obOO00O0O00O0DOoDonDO
4, 0O0O0OOOOOO

5 00000000000000000000000O0O0OO0
00000000000000000000000000D

6. 0000ODDOOO0OO0OO0OO000O00O0O0O0O0O0OOOOOOO
000000000000000000000000000
o00o0ooooooo

7. 000D00OO0ODOOOODOOOOOOOODOOOOODO
goooooooo

8. 000DDOODODOODDO (DOOODOOO)DOODODO
000000oo0oo0ooooooooo0ooo

gooboooooobgooon:

000000000000 (IC)0000000000O0oOoOoOD
00o0Do000ooooooo (ESD)D0DDO0ODDOOoog

000000000OoESDOOOOOOOOOOOOODOD
00000000000000000000000000000O0

78 I1BM PC Server/Netfinityd 00 HMM



000000000000000000D0DO0OOESDOOOODO
gooooooooo

O:

1. OO0O0O0D ESDO0OOOOOOOOOOOOOOOODOO
000000oooooooooooooo

2. 0000 ESDOOOODOOCOOOOOODOOO (ISO 9000
000)0000000000000000000000

ESDOOODODOOODDOODODOODODOODDOO

e [J00000O0O0O0O0O0O0O0O0O0O0O0O0O0OOOOO0O00O0
oo

e OOOOOOOOOODO

e [J0000000O0O0O000O0O0O0O0000O0O00000O0
ooooooo

e JOOOO0OOOOOOOOCOOOOOOOOOOOOOO
gooooooO0booOoooOoO0booOoOooOoOooooon
oooooo

e [J00000O0O0O0O0O0O0O0O0O0O0O00O0OOOOO0O00O0
0000000000000 OESDOOOOOODOOOO
gooOooooooo

e [J0000000O0O0O000O0O0O0O0000O0O00000O0
oooooooooo

O

0oD000D0O00D0O00O0DOESDOOODOOO
oooooooooooooo

- ESDOOOOOOOOOOOODOOOOOOOOOO
00000000000000000000000

- 2000000000000D0D0000000000O0
O0O0O0DO0O0OESDOOOOODOOODOOOODO
00000o0ooooooooooboooooooooo
000000000000000000000

- ACOOO0O0O0DOOO0DOOOOACOODOOODDOO
ooooooooo

gboooo:

00000000000 DO000DOO0O0D00OO0O0ODODOOPC

Server0 0000000000000 OOODOOODOOOOODO
000000000000000000000000000000
o0o0oooooooooooono

gooooooo 79



oooobooon

0000000000000 00000000000000000
000000000000000000000000000000
goooooooboooooOooboooooOoO0oboooO0oobooO0n
gooooooooo

gooOoooooooooao
000000000000 0000000000000
ooooo

ooooooooooooo?
0000000000000 0000oOoDoOoooonD?
0oooooooooo?
0oooooooooooooo?
0000000000000000000000000
o?

00o00oo0ooooooooo?

0000000000000 /00000D0OODOOO00OO

oooOooO0o0o0O0DoOooooo

oooooooo

0oopooooo (booo)oo
BIOSO OO

go0o0ooooooooooooooooo

oooOooO0o0o0O0DoOooooo

O

O

oooooo0ooO0oo0ooO0o000000D0o00o00Ooo
oooooooooooo

o0 s~wN R

~

oooooOooooooooooooo

0o BloOsoooooo
0000000000oOoOo/ooooooo
0000000Oo0ooO/ooooooo/ooooo
gboooooooooooooooooooooo
000000000000000/00000000 (O
0ooo)ooooo
gbdoooooooooooooooooooo

oo0ooo0obo0b000000000D000000000
oooooo

“0000000000000000O0OoOoOoO"™oOo0oooo
gooooooooo0oo0oooooooooooooooo
ooooooooo

80

IBM PC Server/Netfinityd 00 HMM




oogno

0oobDo0o000O0o00D0O0000OOooOIBMOOOODOOOOO
000000000000 0000000000O00000000
000000000000 0000000000000000O0
IBMOOOOOOOOOOODODOOO0OO0OD0OO00000000000
0o0oD0000O0000O0000D000O0OOoO0o0oOIBMODO
ooooooooooooooiBMOODOOOOOOOOOOOO
00o00o000000O00o0o0o0o00oooooooooon
000000000000000000000000000000
ooooDoOoiBMODOOODOOOODOOODOOOODOOOO
000000000000 0000000000D00000000
0ooooooiBMOOOOOODOODOOOODOOO0OO0O0O0O00000O0
0000o000000000000000000oo0ooo0oooon
0ooO0o0o0o0o0o0oooooo

IBMOOOODOOOOOOODOOOOD0ODOO0O0000000000
000000000000 0000000000D00000000
000000000000 0000000000D00000000
OooO0o0O000000D00000000000O00000000
000000000000 0000000000O00000000
0oooo0oo0o00oooooooo

0106-0032000000003002-31
APO OO

IBM World Trade Asia Corporation
Intellectual Property Law & Licensing

opoooooo 81



g

0oooo0o0o0o0oOoOoOoOoOoOoOoOoOOO IBM OOOOO
oo

EduQuest HelpCenter
HelpClub IBM
NetBAY22 NetBAY3
Netfinity 0S/2

Personal System/2 PS/1

PS/2 PS/ValuePoint
Skill Dynamics SystemXtra
ThinkPad

Apex PC Solutions OutLookd OutLook41 0 00 OSCARI O
Apex PC Solutions, Incd00000

000000000000 0000000000D00000000
00oO0oo0o0o0o0o00o0o0O0o0oO0ooooooo

82 IBM PC Server/Netfinityd 0 0 HMM






Printed in Japan

B Pr-E—T LSS

T106-E711

WA E 3212

SA88-5990-02







